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→

f(x):=x^2

→

ympyra:=(x-x0)^2+(y-y0)^2=r^2

→

yht1:=Korvaa[ympyra,{x=0,y=0}]

→

yht2:=Korvaa[ympyra,{x=-t,y=t^2}]

→

yht3:=Korvaa[ympyra,{x=t,y=t^2}]

→

ratkaisu:=Ratkaise[{yht1,yht2,yht3},{x0,y0,r}]

→

rajaRatkaisu:=Raja_arvo[Alkio[ratkaisu,1],t,0]

→

kaarevuusYmpyra:=Korvaa[ympyra,rajaRatkaisu]
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→

kaaret:=Ratkaise[kaarevuusYmpyra,y]

→

g(x):=Korvaa[y,Alkio[kaaret,2]]

→

f''(0)

→

g''(0)

Derivaatta, x:

g(x)

Derivaatta, x:

(2x) / sqrt(-4 x² + 1)

→

Korvaa[(-2) / (4sqrt(-4 x² + 1) x² - sqrt(-4 x² + 1)),x,0]


